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iT nT

T2 X φ
T3

TSTOP exp φ
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P2

P3 tan
iP nP

P4 φ
P5

P6 exp φ

P1

1−−→ P1
1/.−−−→ P4

1+.−−−−→ P5
exp−−−−→ P6

1−−→ T1
X(.)−−−−→ T2

1+.−−−−→ T3
exp−−−−→ TSTOP .

1−−→ (T1, P1)
1/.,X(.)=1/.−−−−−−−−−−→ (T2, P4)

1+.−−−−→ (T3, P5)
exp−−−−→ (TSTOP , P6).

{P1, P4, P5, P6}
X(.) = 1/.
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n = 1 f(q1) −→ q
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f−−→ q X

ε qi −→ q

AT ×AP



q = f(φ(Q1) . . . φ(Qn))

f(q1 . . . qn) −→ q qi ∈ Qi

q = X(φ(Q1) . . . φ(Qn))

qi −→ q qi ∈ Qi

f(q . . . q) −→ q f

(qT , qP )
qT AT AP
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A = {(S, i) | (A1, i1) ≺ (S, i) ≺ (An, in) S Ai}
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i $∈ { 9, 10 }
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Optimized A
i $∈ { 1, 2, 3, 4 }

A3



A = {(A1, {9, 10}), (A2, {0}), (A3, {1, 2, 3, 4})}

A = {(P2, {10}), (P3, {0}), (P4, {1, 2, 3, 4})}
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